Solu@ons: EASY Test

Q 1: Solu@on: (B) Only B statement captures the main idea given in the paragraph without changing

the
facts. D captures the idea but in the end it alters the given fact. A and C are fart-fetched as per the
given paragraph. Q 2: Solu€@on: (A) Op€on A captures the key idea of the paragraph i.e. the

advancement and process
improvement in dairy industry. B is irrelevant and alters the fact. C deviates from the key idea
given in the para. D focuses mainly on automa@on. Q 3: Solu@on: (C) The C statement uses all the

important key ideas men€@oned in the paragraph. It

righ@ully describes the impact of the treaty on the Otoman Empire. The A statement says the
Otoman empire dictated peace which is incorrect. D statement is incorrect. B is close but it
misrepresents the informa€on.

Qa4:

Solu@on: (B) 2 introduces the topic of silk. 3 defines a cause, and 4 provides a reason. 1 further
elaborates both the 3 and 4 sentences. The logical sequence will be 2341.

Q5:

Solu@on: (D) The use of the ordinals ‘first’ and ‘second’ confirms the link between 2 and 3. Hence,
op@on A and C can never be correct. In op€on B, 2 comes before 3 which is also not possible. So, the
correct sequence has to be 1324,

Qe6:

Solu@on: (B) 2 introduces the topic of air pollu€@on. The keyword ‘standards’ creates a link between 3
and 1. Only, op€on C uses the link 231. Hence, the logical sequence is 2341.

Q7:
Solu@on: (C) The sentences like 1, 2 and 4 are mainly associated with poten€al of water and memory

of water. Only 3rd sentence talks about wastewater which is a different topic altogether. Hence,
op@on 3 will be correct.

Q8:

Solu@on: (A) The first sentence talks about proper medica@on. The other three are mainly associated
with health technology and the author’s view on that. Hence, 1 is the odd one out here.

Qo:

Solu@on: (B) The preceding line before blank (2) men€ons that the author went blank when the new

pope was presented. And the following line a@er the same blank uses the word 'included'. It's clear
that this word is used for the list being men€oned in the given sentence.



Q 10: Solu@on: (D) The preceding lines before the 4th blank say that there was no clear outlet for the
war.

The next line should give the reason for that. The given sentence fits meaningfully in the 4th blank.
Q11:

Solu@on: (D) A@er reading the last few lines, it can be assumed that the bird was recovering from

some injury. That means the ul€@mate conclusion should be that a@er that injury, it will be able to fly
properly. Hence, the given sentence will come towards the end.

Q1i2:

Solu@on: (D) Op€@on D captures the focus of the passage. The passage explains the significance of
mythology in various religions of India.

Q13:

Solu@on: (B) B is correct as “good winning over evil” is central to Indian mythology. Also provides the
essence of living.

Q 14:

Solu@on: (B) Op@on B is correct as it describes the right reason behind anima€on flicks on

characters
from mythology i.e. making the new genera€@on as well as elders aware of Indian mythology.

Q 15:

Solu@on: (B) Op@on B is correct because it talks about the essence of the passage. It describes the
significance of mythology in Indian religion and in everyday life as well.

Q 16:

Solu€@on: (A) The given fact can be traced towards the end of the passage. It is clearly men€@oned that
it is considered aggressive.

Q1l7:

Solu@on: (C) A and B are too broad. The passage focuses specifically on C from the 2nd paragraph
onwards.

Q 18:

Solu@on: (D) Op@on D is correct because there is a lot of versa@lity as a result of variety of

influences
from day-to-day life to European/ oriental styles to folk culture.

Q19:

Solu€on: (D) It is not true because Indian art is well known and appreciated abroad. It has a good
market off shore and fetches even beter prices.

Q 20:

Solu@on: (A) The given fact can be traced in the second paragraph of the passage.



